

Name - Skumar Bhatt

Dept - Computer Engineering

Matric No - 19150021016

MAT 104

12-05-2020 to 15-05-2020

$$y = \sin(6/x^2)$$

$$y = \sin(6x^{-2})$$

$$y + \Delta y = \sin(6(x + \Delta x)^{-2})$$

$$y + \Delta y = \sin(6x^{-2} + \Delta x^{-2})$$

$$\Delta y = \sin(6x^{-2} + 6x\Delta x^{-2}) - y$$

$$\Delta y = \sin(6x^{-2} + 6\Delta x^{-2}) - \sin 6x^{-2}$$

$$\frac{2 \cos(A+B) - \sin(A-B)}{2}$$

$$\Delta y = \frac{2 \cos(6x^{-2} + 6\Delta x^{-2} + 6x^{-2}) \sin(6x^{-2} + 6\Delta x^{-2} - 6x^{-2})}{2}$$

$$\Delta y = \frac{2 \cos(12x^{-2} + 6\Delta x^{-2}) \sin(6\Delta x^{-2})}{2}$$

Divide through by Δx

$$\frac{\Delta y}{\Delta x} = \frac{2 \cos(12x^{-2} + 6\Delta x^{-2}) \sin(6\Delta x^{-2})}{2}$$

$$\frac{2 \cos(12x^{-2} + 6\Delta x^{-2}) \sin(6\Delta x^{-2})}{2}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\cos(12x^{-2} + 6(\Delta x)^{-2}) \sin 6\Delta x^{-2}}{\frac{2}{\Delta x}} \rightarrow 1$$

$$\frac{dy}{dx} = \cos 12x^{-2} / 2$$

$$\frac{dy}{dx} = \cos 6x^{-2}$$

$$x = 4t^3 - t^3 \quad y = t^4 + 2t^2$$

$$t = 1 \text{ and } t = 3$$

$$A = \int_a^b f(x) dx \quad y = f(x)$$

$$A = \int_a^b y dx$$

Let

$$x = f(t) \text{ and } y = g(t)$$

$$\frac{dx}{dt} = f'(t) \text{ and } dx = f'(t) dt$$

$$A = \int g(t) \cdot f'(t) dt$$

$$A = \int (t^4 + 2t^2) \cdot (12t^2 - 2t) dt$$

$$A = \left[\frac{t^5}{5} + 2t^2 \right] \left[\frac{12t^3}{3} - \frac{2t^2}{2} \right]$$

at $t=1$

$$A = \left[\frac{1^5}{5} + \frac{2 \cdot 1}{2} \right] \times \left[\frac{12 \cdot 1}{3} - \frac{2 \cdot 1}{2} \right]$$

$$= \left[\frac{1}{5} + 1 \right] \left[4 - 1 \right]$$

$$= \frac{6}{5} \times 3$$

$$= \frac{18}{5}$$

At $t=3$

$$A = \left[\frac{3^5}{5} + \frac{2(3)^2}{2} \right] \left[\frac{12(3)^3}{3} - \frac{2(3)^2}{2} \right]$$

$$= \left[\frac{243}{5} + 9 \right] \times \left[108 - 9 \right]$$

$$A = [57.6] \times 99$$

$$A = 5702.4$$

cuppen können

$$= 5702.4 - \frac{18}{100} = 5698.8 \text{ units}$$

$$3) x = 4t^3 - t^2, y = t^4 + 2t^2$$

$$\frac{dy}{dt} = 12t^2 - 2t$$

$$\frac{dy}{dt} = 4t^3 + 4t$$

$$\frac{dy}{dx} = \frac{dy}{dt} = \frac{dx}{dt}$$

$$\frac{dy}{dx} = \frac{dy}{dt} = \frac{dx}{dt}$$

$$\frac{dy}{dx} = \frac{4t^3 + 4t}{12t^2 - 2t}$$

$$\frac{dy}{dx} = \frac{4t^3}{12t^2 - 2t} + \frac{4t}{12t^2 - 2t}$$

$$\frac{dy}{dx} = \frac{1}{3} - 2 + \frac{1}{3t^2 - 2}$$

$$\frac{dy}{dx} = 1 + \frac{1}{3t^2 - 2}$$